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1. ‘ks”k lHkh ysu&nsuksa dks lgh eku ysus dh 

izfØ;k] ;fn muesa ls dqN lgh gksa] dgykrh  

gS % 

 
1. The process of assuming all the rest 

transactions correct, if few of them are 

correct, is called : 

(A) uSR;d tk¡p  (A) Routine checking 

(B) HkkSfrd x.kuk  (B)  Physical counting 

(C) ijh{k.k tk¡p  (C)  Test checking  

(D) izek.ku  (D)  Vouching  

2. vads{k.k ds fl)kUr eas ‘kkfey gksrk gS % 
 

2. Principles of auditing consists of : 

(A) lR;rk dk fl)kUr  (A) Principle of truth 

(B) LorU=rk dk fl)kUr  (B)  Principle of independence 

(C) izdVrk dk fl)kUr  (C)  Principle of disclosure 

(D) mi;qZDr lHkh   (D)  All of the above 

3. ßvk/kqfud rduhdh ds vuqlkj vads{k.k dk;Z 

ds O;ogkfjd igyqvksa ds fy, uohu n`f”Vdks.k 

dh vko’;drk gSAÞ ifjHkkf”kr fd;k gS % 

 
3. “Modern techniques require a new 

approach to the practical aspects of the 

auditor‟s work.” Defined by : 

(A) Mh- iksyk us  (A) D. Paula 

(B) Vsyj ,oa isjh us  (B)  Taylor and Perry 

(C) ts- vkj- ckVyhckW; us  (C)  J. R. Batliboi 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

4. HkkSfrd :i ls x.kuk dsoy mUgha enksa dh gks 

ldrh gS] ftudh igpku o ,d:irk gks % 

 
4. Only those transactions can be physically 

calculated, whose identification and 

uniformity is : 

(A) ljy o Li”V  (A) Easy and clear  

(B) dfBu  (B)  Difficult  

(C) vLi”V  (C)  Not clear  

(D) iwoZ&fu/kkZfjr  (D)  Predetermined  
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5. uSR;d tk¡p gS ,d % 
 

5. Routine checking is a/an : 

(A) tfVy izfof/k  (A) Difficult technique 

(B) ljy izfof/k  (B)  Easy technique 

(C) fo’ks”k izfof/k  (C)  Special technique 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

6. ,d vads{k.k izfof/k gS % 
 

6. An auditing technique is : 

(A) HkkSfrd x.kuk  (A) Physical counting 

(B) HkkSfrd lR;kiu  (B)  Physical verification  

(C) uSR;d tk¡p  (C)  Routine checking  

(D) mi;qZDr lHkh  (D)  All of the above 

7. ijh{k.k tk¡p dks 
---------------------

 Hkh dgrs gSaA 
 

7. Test checking is also known as ............. . 

(A) vkUrfjd fu;U=.k  (A) Internal control 

(B) vkUrfjd vads{k.k   (B)  Internal audit 

(C) oS/kkfud vads{k.k   (C)  Statutory audit 

(D) p;fur lR;kiu  (D)  Selective verification  

8. ,d xSj&ykHkdkjh laxBu }kjk 
--------------------

 cuk;k 

tkrk gSA 

 
8. .................. is prepared by a non-profit 

making organisation.  

(A) O;kikj [kkrk  (A) Trading A/c 

(B) ykHk&gkfu [kkrk  (B)  Profit and Loss A/c 

(C) ykHk&gkfu fu;kstu [kkrk   (C)  Profit and Loss Appropriation A/c 

(D) vk;&O;; [kkrk  (D)  Income and Expenditure A/c 
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9. ,d laLFkk ds lkekftd fu”iknu dk ewY;kadu 

dgykrk gS % 

 
9. The evaluation of social performance of 

an institution is called : 

(A) lkekftd vads{k.k  (A) Social Audit 

(B) oS/kkfud vads{k.k  (B)  Statutory Audit 

(C) izcU/kdh; vads{k.k  (C)  Management Audit 

(D) ykxr vads{k.k  (D)  Cost Audit 

10. Hkkjrh; vads{k.k o ys[kk foHkkx dk izeq[k gksrk 

gS % 

 
10. The head of Indian Audit and Accounts 

Department is : 

(A) Hkkjr dk jk”Vªifr  (A) President of India 

(B) Hkkjrh; fu;U=d ,oa egkys[kk ijh{kd  (B)  Comptroller and Auditor General of 

India 

(C) foŸk ea=h  (C)  Finance Minister 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

11. vUrfje vads{k.k fd;k tkrk gS % 
 

11. Interim audit is done : 

(A) foŸkh; o”kZ esa dHkh Hkh  (A) At any time during the financial 

year 

(B) foŸkh; o”kZ ds vUr esa  (B)  At the end of financial year 

(C) foŸkh; o”kZ ds izkjEHk esa  (C)  At the beginning of financial year 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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12. ewy izek.kd ds vHkko eas fn;k tkus  

okyk lgk;d izek.kd 
-----------------------------------------

 

dgykrk gS A 

 
12. Subsidiary voucher provided in the 

absence of primary voucher is  

called ............... . 

(A) izfri.kZ  (A) Counter-foil 

(B) lk/kkj.k izek.kd  (B)  General voucher 

(C) iqf”Vdkjd izek.kd  (C)  Corroborative voucher 

(D) iqfLrdk izek.kd  (D)  Note-book voucher 

13. 
---------------------------------

 dks vads{k.k dh jh<+ dh gM~Mh 

dgrs gSaA 

 
13. .................. is known as backbone of 

auditing. 

(A) ewY;kadu  (A) Valuation  

(B) izek.ku  (B)  Vouching  

(C) lR;kiu  (C)  Verification  

(D) varfje vads{k.k  (D)  Interim audit 

14. [;kfr ,d 
-------------------------

 lEifŸk gSA 
 

14. Goodwill is a ............... asset. 

(A) ewrZ  (A) Tangible  

(B) vewrZ  (B)  Intangible  

(C) pkyw  (C)  Current  

(D) cukoVh  (D)  Fictitious  
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15. vads{k.k gS % 
 

15. Auditing is : 

(A) ,d dyk  (A) An art 

(B) ,d foKku  (B)  A science 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

16. oS/kkfud vads{k.k dh izd`fr gS % 
 

16. Nature of statutory audit is : 

(A) ,sfPNd  (A) Voluntary 

(B) vfuok;Z  (B)  Compulsory 

(C) oSdfYid  (C)  Optional  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

17. nksgjk ys[kk iz.kkyh dk izfriknu 
------------------------- 

ds 

}kjk fd;k x;k FkkA 

 
17. Double entry system was propounded  

by .................. . 

(A) gsujh Qs;ksy  (A) Henry Fayol 

(B) Y;wdl isflvksyh  (B)  Lucas Pacioli 

(C) Likblj ,oa isxyj  (C)  Spicer and Peglar 

(D) ,- MCY;w- gsUlu  (D)  A. W. Hanson  
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18. ^vkMk;j* ‘kCn dk vFkZ gS % 
 

18. The word „Audire‟ means : 

(A) fn[kkuk  (A) To show 

(B) ns[kuk  (B)  To see 

(C) lquuk  (C)  To hear 

(D) fxjuk  (D)  To fall 

19. vads{k.k iqfLrdk 
-------------------------

 }kjk vuqjf{kr dh 

tkrh gSA 

 
19. Audit note-book is maintained by : 

(A) vads{k.k fyfid  (A) Audit clerk  

(B) NksVk jksdfM+;k  (B)  Petty cashier 

(C) LVksjdhij  (C)  Storekeeper 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

20. vads{k.k izkjEHk gksrk gS] tgk¡ % 
 

20. Auditing begins, where : 

(A) izek.ku lekIr gksrk gS  (A) Vouching ends 

(B) ys[kkadu lekIr gksrk gS  (B)  Accounting ends  

(C) iqLrikyu lekIr gksrk gS  (C)  Book-keeping ends  

(D) vuqlU/kku lekIr gksrk gS  (D)  Investigation ends  

21. vkarfjd vads{k.k ,oa vkarfjd tk¡p nksuksa  

gksrs gSa % 

 
21. Both internal audit and internal check  

are : 

(A) iwjd  (A) Complementary  

(B) lkFk&lkFk pyus okys  (B)  Go together 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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22. [kqnjk jksdM+ cgh 
---------------------------------

 ds }kjk cukbZ 

tkrh gSA  

 
22. Petty cash book is prepared  

by .............. . 

(A) NksVk jksdfM+;k  (A) Petty cashier 

(B) iz/kku jksdfM+;k  (B)  Head cashier 

(C) vads{k.k fyfid  (C)  Audit clerk  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

23. ,sls [kpZ tks pkyw o”kZ esa ns; gksa] ijUrq vnk u 

gq, gksa] dgykrs gSa % 

 
23. Expenses which are due in current year, 

but not paid, are called : 

(A) iwoZnŸk O;;  (A) Prepaid Expenses 

(B) izkjfEHkd O;;  (B)  Preliminary Expenses 

(C) iw¡thxr O;;  (C)  Capital Expenses 

(D) vnŸk O;;  (D)  Outstanding Expenses 

24. vads{k.k dk;Zi= esa ‘kkfey gSa % 
 

24. Audit working papers consist of : 

(A) nsunkj o ysunkjksa dh vuqlwfp;k¡  (A) Schedules of debtors and creditors 

(B) izklafxd nLrkost ,oa izek.k&i=  (B)  Relevant documents and certificates  

(C) ryiV rFkk foŸkh; fooj.kksa dk elkSnk  (C)  Draft of trial balance and financial 

statements  

(D) mi;qZDr lHkh  (D)  All of the above 

25. fu;fer tk¡p 
--------------------

 }kjk lEikfnr dh tkrh 

gSA 

 
25. Routine check is performed by : 

(A) ljdkj  (A) Government 

(B) ysunkj  (B)  Creditors 

(C) vads{kd ds deZpkjh  (C)  Employees of the auditor 

(D) va’k/kkjh  (D)  Shareholders 
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26. vads{k.k djrs le; ,d vads{kd dks tk¡p 

djuh gksrh gS % 

 
26. While auditing, an auditor has to check : 

(A) ys[kk iqLrdksa dh ‘kq)rk   (A) Accuracy of the books  

(B) ysu&nsuksa dh izekf.kdrk  (B)  Authensity of the transactions 

(C) ysu&nsu dh vf/kdkfjrk  (C)  Authority of the transactions  

(D) mi;qZDr lHkh  (D)  All of the above 

27. fuEufyf[kr esa ls dkSu&lh ,d vads{kd dh 

fo’ks”krk ugha gS\ 

 
27. Which of the following is not a quality of 

an auditor ? 

(A) bZekunkjh  (A) Honesty  

(B) fujk’kkokn  (B)  Pessimism  

(C) fu”i{krk  (C)  Impartiality  

(D) tkx:drk  (D)  Vigilance  

28. fuEufyf[kr esa ls dkSu&lh ys[kkadu dh =qfV 

ugha gS\ 

 
28. Which of the following is an accounting 

error ? 

(A) i=kpkj dh =qfV;k¡  (A) Errors of correspondence  

(B) fl)kUrksa dh =qfV;k¡  (B)  Errors of principles  

(C) Hkwy dh =qfV;k¡  (C)  Errors of omission  

(D) {kfriwjd =qfV;k¡  (D)  Compensatory errors 
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29. fuEufyf[kr esa ls dkSu&lk vads{k.k dk ,d 

mís’; ugha gS \ 

 
29. Which of the following is not an 

objective of audit ? 

(A) [kkrksa dk lR;kiu djuk  (A) To verify the accounts  

(B) diVksa dh tk¡p djuk  (B)  To investigate the frauds  

(C) [kkrksa dks rS;kj djuk   (C)  To maintain the accounts  

(D) foŸkh; fooj.kksa dh lR;rk o fu”i{krk 

dk lR;kiu djuk 

 (D)  To verify the truth and fairness of 

financial statements 

30. ` 1,00,000 ykxr dh e’khu ds Ø; dks 

Ø;&cgh esa izfo”V fd;k x;kA ;g ,d  

---------------------
 =qfV gSA 

 
30. Purchase of a machinery costing  

` 1,00,000 is recorded in purchase book. 

It is an error of .................... . 

(A) Hkwy dh  (A) Omission 

(B) fl)kUr dh  (B)  Principle 

(C) {kfriwjd  (C)  Compensatory  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

31. izek.ku 
-----------------------------------------

 ls lEcfU/kr gSA 
 

31. Vouching is concerned with ................ . 

(A) ryiV cukus   (A) Preparation of trial balance  

(B) vkfFkZd fpV~Bk cukus  (B)  Preparation of balance sheet  

(C) izfof”V;ksa dh ‘kq)rk] izekf.kdrk rFkk 

vf/kdkfjdrk dh tk¡p djus 

 (C)  Checking the accuracy, authenticity 

and authority of transactions  

(D) lEifŸk;ksa o nkf;Roksa dk ewY;kadu djus  (D)  Valuation of assets and liabilities 
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32. diV esa ‘kkfey gksrk gS % 
 

32. Fraud includes : 

(A) /ku dk xcu  (A) Misappropriation of cash  

(B) eky dk xcu  (B)  Misappropriation of goods 

(C) lEifŸk;ksa dk dk xcu  (C)  Misappropriation of assets 

(D) mi;qZDr lHkh  (D)  All of the above 

33. dkSu&lk vads{k.k iwjs o”kZ lapkfyr fd;k tkrk 

gS \ 

 
33. Which audit is conducted throughout the 

year ? 

(A) iw.kZ vads{k.k  (A) Complete Audit 

(B) lrr~ vads{k.k  (B)  Continuous Audit 

(C) vUrfje vads{k.k  (C)  Interim Audit 

(D) okf”kZd vads{k.k  (D)  Annual Audit 

34. fpV~Bs ds vads{k.k esa ,d vads{kd lR;kfir 

djrk gS % 

 
34. In audit of a balance sheet, an auditor 

verifies : 

(A) lEifŸk;k¡  (A) Assets 

(B) nkf;Ro  (B)  Liabilities 

(C) iw¡th  (C)  Capital 

(D) mi;qZDr lHkh  (D)  All of the above 

35. vkUrfjd fu;U=.k eas vads{kd dks v/;;u 

djuk gksrk gS % 

 
35. In internal control, an auditor has to  

study : 

(A) O;kikfjd izfØ;k dk  (A) Business Process 

(B) fuekZ.kh izfØ;k dk  (B)  Manufacturing Process 

(C) iz’kklfud izfØ;k dk  (C)  Administrative Process 

(D) mi;qZDr lHkh  (D)  All of the above 
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36. ,d lEifŸk tks fd ykxr o cktkj ewY; nksuksa 

esa tks de gks] ds vk/kkj ij ewY;kafdr gksrh  

gS % 

 
36. An asset which is valued on the basis of 

cost or market value, whichever is lower 

is : 

(A) izkI; foi=  (A) Bills Receivable 

(B) e’khujh  (B)  Machinery  

(C) isVsUV  (C)  Patent  

(D) jgfr;k  (D)  Stock  

37. 
----------------------

 ,d cukoVh lEifŸk gSA 
 

37. ................. is a fictitious asset. 

(A) miLdj ¼isVsUV½  (A) Patent  

(B) izfrfyI;kf/kdkj ¼dkWihjkbV½  (B)  Copyright  

(C) izkjfEHkd O;;  (C)  Preliminary Expenses  

(D) mi;qZDr lHkh  (D)  All of the above 

38. ^vif’k”V ewY;* ‘kCn 
--------------------

 ls lEcfU/kr gSA  
 

38. The term „scrap value‟ is related with : 

(A) Hkwfe  (A) Land 

(B) Iyk.V ,oa e’khujh  (B)  Plant and Machinery  

(C) [;kfr  (C)  Goodwill 

(D) jgfr;k  (D)  Stock 

39. buesa ls dkSu&lh [;kfr ewY;kadu dh ,d fof/k 

gS \ 

 
39. Which one of the following is a method 

of valuation of goodwill ? 

(A) mRd`”V ykHk fof/k  (A) Super Profit Method  

(B) e’khu ?kaVk nj fof/k  (B)  Machine Hour Rate Method  

(C) flafdax Q.M fof/k  (C)  Sinking Fund Method  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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40. nkf;Ro tks fd lkekU;r% ,d o”kZ ds vUnj ns; 

gksa] dgykrs gSa % 

 
40. Liabilities which are normally payable 

within a year, are called : 

(A) xSj&pkyw nkf;Ro  (A) Non-Current Liabilities 

(B) laHkkO; nkf;Ro  (B)  Contingent Liabilities 

(C) pkyw nkf;Ro  (C)  Current Liabilities 

(D) nh?kZdkfyd nkf;Ro  (D)  Long-term Liabilities 

41. ^QhQks* 
----------------------

 dh ,d fof/k gSA 
 

41. „FIFO‟ is a method of ................... . 

(A) jgfr;k ewY;kadu  (A) Valuation of Stock 

(B) va’k ewY;kadu  (B)  Valuation of Shares 

(C) [;kfr ewY;kadu  (C)  Valuation of Goodwill 

(D) _.ki= ewY;kadu  (D)  Valuation of Debentures 

42. fuEufyf[kr esa ls dkSu&lh ,d {k;dkjh 

lEifŸk gS \ 

 
42. Which one of the following is a wasting 

asset ? 

(A) [;kfr  (A) Goodwill 

(B) Iyk.V  (B)  Plant 

(C) jksdM+  (C)  Cash 

(D) dks;ys dh [kku  (D)  Coal Mine  

43. ^vfHkxksiu* ‘kCn 
----------------------

 ls lEcfU/kr gSA 
 

43. The term „underwriting‟ is related with 

............ . 

(A) va’k  (A) Shares 

(B) ykxr  (B)  Cost 

(C) e’khujh  (C)  Machinery 

(D) [;kfr  (D)  Goodwill 
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44. ,- ,l-&3 
---------------------

 ls lEcfU/kr gSA 
 

44. AS-3 is associated with ............ . 

(A) LdU/k ds ewY;kadu  (A) Valuation of Stock  

(B) jksdM+ izokg fooj.k   (B)  Cash Flow Statement  

(C) vkfFkZd fpV~Bk  (C)  Balance Sheet 

(D) jksdM+cgh  (D)  Cash Book 

45. fcy ds Hkqukus ij nkf;Ro dgykrk gS % 
 

45. Liability on bill discounted is called : 

(A) laHkkO; nkf;Ro  (A) Contingent Liability 

(B) pkyw nkf;Ro  (B)  Current Liability 

(C) xSj&pkyw nkf;Ro  (C)  Non-Current Liability 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

46. ,d vads{k.k dk;ZØe gksuk pkfg;s % 
 

46. An audit programme must be : 

(A) LFkk;h  (A) Fixed 

(B) dBksj  (B)  Rigid  

(C) yphyk  (C)  Flexible  

(D) ekSf[kd  (D)  Verbal  

47. ;fn ykHk dk fu/kkZj.k okLrfod foHkkT; ykHk 

ls vf/kd gks tkrk gS] rks % 

 
47. If profit is determined in excess of actual 

divisible profit, then : 

(A) ykHkka’k iw¡th ls ck¡Vk tk ldrk gSA  (A) Dividend may be distributed out of 

capital. 

(B) ysunkjksa ds fgrksa ij izfrdwy izHkko iM+ 

ldrk gSA  

 (B)  Creditors‟ interest may adversely 

be affected.  

(C) foŸkh; fooj.k lR; o mfpr n`f”Vdks.k 

ugha iznf’kZr djsaxsA 

 (C)  Financial statement may not show 

true and fair view.  

(D) mi;qZDr lHkh  (D)  All of the above  
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48. dEiuht vf/kfu;e] 2013 dh /kkjk 205 ds 

vuqlkj] foHkkT; ykHk dk fu/kkZj.k fd;k tkrk 

gS % 

 
48. As per Section 205 of the Companies 

Act, 2013 divisible profit is determined : 

(A) kl dk izko/kku djus ds i’pkr~  (A) After provision for depreciation  

(B) xr o”kks± dh gkfu;ksa ds lek;kstu ds 

i’pkr~] ;fn dksbZ gks  

 (B)  After adjusting losses of past years, 

if any  

(C) vko’;d lafprksa dk fuekZ.k djus ds 

i’pkr~ 

 (C)  After creating necessary reserves  

(D) mi;qZDr lHkh   (D)  All of the above  

49. dEiuht vf/kfu;e] 2013 dh /kkjk 123¼1½ ds 

vuqlkj] ykHkka’k dks ,d vyx cSad [kkrs esa 

tek djuk pkfg;s % 

 
49. As per Section 123(1) of the Companies 

Act, 2013, dividend must be credited to a 

separate bank account within : 

(A) bldh ?kks”k.kk ds 2 fnu ds Hkhrj  (A) 2 days of its declaration  

(B) bldh ?kks”k.kk ds 5 fnu ds Hkhrj  (B)  5 days of its declaration  

(C) bldh ?kks”k.kk ds 7 fnu ds Hkhrj  (C)  7 days of its declaration  

(D) bldh ?kks”k.kk ds 15 fnu ds Hkhrj  (D)  15 days of its declaration  

50. lkr o”kks± dh lekfIr ij] u nkok fd;s x;s 

ykHkka’k dh jkf’k dks gLrkUrfjr djuk gksxk % 

 
50. At the end of 7 years, the amount of 

unclaimed dividend must be transferred  

to : 

(A) fofu;kstd f’k{k.k ,oa lqj{kk dks”k esa   (A) Investors‟ Educational and 

Protection Fund  

(B) u nkok fd;s x;s ykHkka’k [kkrs eas   (B)  Unclaimed Dividend Account  

(C) dEiuh ds cSad [kkrs esa   (C)  Company‟s Bank Account 

(D) ljdkj ds [kkrs esa   (D)  Government‟s Account  
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51. vafre ykHkka’k dh ?kks”k.kk dh tkrh gS % 
 

51. Final dividend is declared : 

(A) lapkydksa }kjk lapkyd eaMy dh lHkk 

esa  

 (A) By directors in the meeting of 

Board of Directors 

(B) va’k/kkfj;ksa }kjk vke lHkk esa   (B)  By shareholders in general meeting  

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

52. dEiuht vf/kfu;e dh /kkjk 139 esa 
--------------------

 ls 

lEcfU/kr izko/kku ‘kkfey gSaA  

 
52. Section 139 of the Companies Act 

contains the provision relating  

to ................. . 

(A) vads{kd dh ;ksX;rk   (A) Qualification of auditor 

(B) vads{kd dh fu;qfDr  (B)  Appointment of auditor 

(C) vads{kd ds ikfjJfed  (C)  Remuneration of auditor 

(D) vads{kd dks gVkus  (D)  Removal of auditor 

53. vk;dj vf/kfu;e] 1961 dh /kkjk 
------------------

 ds 

vUrxZr] dqN fof’k”V O;fDr;ksa dh ys[kk 

iqLrdksa dk dj&vads{k.k vfuok;Z gSA 

 
53. Under Section ............... of Income Tax 

Act, 1961, tax audit of books of accounts 

of some specified persons in compulsory. 

(A) 44 ,ch  (A) 44 AB 

(B) 43 ,ch  (B)  43 AB 

(C) 139  (C) 139 

(D) 143  (D) 143 
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54. ,d vads{kd ds nhokuh nkf;Roksa eas ‘kkfey gS % 
 

54. Civil liability of an auditor consists of : 

(A) ykijokgh ds fy;s nkf;Ro  (A) Liability of negligence 

(B) dŸkZO; Hkax ds fy;s nkf;Ro  (B)  Liability of misfeasance  

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

55. ^vads{kd ,d j[kokyh djus okyk dqŸkk gS] u 

fd f’kdkjh dqŸkkA* ;g fu.kZ; fuEufyf[kr 

ekeys esa fn;k x;k gS % 

 
55. „Auditor is a watchdog, not a blood- 

hond.‟ This verdict is delivered in the 

following case : 

(A) lkykseu cuke lkykseu ,.M da-  (A) Saloman vs. Saloman & Co. 

(B) yUnu ,oa tujy cSad  (B)  The London and General Bank  

(C) fdaxLVu dkWVu feYl  (C)  Kingston Cotton Mills 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

56. vads{kd dks viuh fjiksVZ nsuh gksrh gS] fd 

foŸkh; fooj.k 
-------------------------

 iznf’kZr djrs gSa ;k 

ughaA 

 
56. Auditor has to give his report, whether 

financial statements depict ................ or 

not.  

(A) lgh o mfpr n`f”Vdks.k  (A) True and Fair view  

(B) lgh o ‘kq) n`f”Vdks.k  (B)  True and Correct view  

(C) dsoy ‘kq) n`f”Vdks.k  (C)  Only Correct view  

(D) dsoy mfpr n`f”Vdks.k  (D)  Only Fair view  
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57. vads{kd dh e;kZfnr fjiksVZ dk vFkZ  gS % 
 

57. Auditor‟s qualified report means : 

(A) LoPN fjiksVZ  (A) clean report 

(B) vads{kd ds }kjk dksbZ ‘kadk ugha izdV 

dh x;h gS  

 (B)  no reservation is shown by auditor  

(C) foŸkh; fooj.kksa ij vads{kd dh larqf”V  (C)  auditor‟s satisfaction on financial 

statements  

(D) vads{kd dh vlarqf”V] ftleas dqN 

‘kadk;sa crkbZ x;h gSa 

 (D)  auditor‟s dissatisfaction, giving 

some reservations  

58. dEiuht vf/kfu;e] 2013 dh /kkjk 
--------------------

 ds 

vUrxZr] vads{kd dEiuh ds lnL;ksa dks viuh 

fjiksVZ nsus ds fy;s mŸkjnk;h gksrk gSA  

 
58. Auditor is responsible to give his report 

to members of the company under 

Section ................ of the Companies Act, 

2013. 

(A) 143  (A) 143 

(B)  139  (B)  139 

(C)  145  (C)  145 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

59. ,d ykxr vads{kd dks 
----------------------

 ds vUrxZr 

,d f’kf{kr ykxr ys[kkdkj gksuk pkfg,A  

 
59. A cost auditor must be qualified cost 

accountant under ................. . 

(A) lunh ys[kkdkj vf/kfu;e] 1949  (A) Chartered Accountants Act, 1949 

(B) ykxr o ladeZ ys[kkdkj vf/kfu;e] 

1959 

 (B)  Cost and Works Accountants Act, 

1959 

(C) dEiuht vf/kfu;e] 2013  (C)  Companies Act, 2013 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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60. cSafdax dEifu;ksa] chek dEifu;kas rFkk ‘kS{kf.kd 

laLFkkvksa dk vads{k.k] dsUnz ljdkj }kjk dqN 

fo’ks”k ifjfLFkfr;ksa esa djok;k tkrk gS] og  

-------------------------
 dgykrk gSA  

 
60. Audit of banking companies, insurance 

companies and educational institutions 

done by Central government in some 

special circumstances is called .............. . 

(A) izcU/ku vads{k.k  (A) Management Audit  

(B) ykxr ys[kkadu   (B)  Cost Audit 

(C) fo’ks”k vads{k.k  (C)  Special Audit 

(D) oS/kkfud vads{k.k  (D)  Statutory Audit 

61. fo’ks”k vads{k.k fjiksVZ 
-----------------------

 dks lkSaih tkrh 

gSA  

 
61. Special audit report is submitted to 

.................. . 

(A) lnL;ksa   (A) Members 

(B) lapkydksa    (B)  Directors  

(C) va’k/kkfj;ksa   (C)  Shareholders  

(D) dsUnz ljdkj  (D)  Central Government  

62. ,d cSafdax dEiuh viuk vkfFkZd fpV~Bk o 

ykHk&gkfu [kkrk] cSafdax dEiuht vf/kfu;e] 

1949 dh /kkjk 
----------------------

 ds varxZr cukrh gSA  

 
62. A banking company prepares its Balance 

Sheet and Profit and Loss Account under 

Section ................ of Banking Companies 

Act, 1949. 

(A) 38  (A) 38 

(B)  32  (B)  32 

(C)  29  (C)  29 

(D)  25  (D)  25 
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63. cSafdax dEiuht vf/kfu;e] 1949 dh /kkjk 30 

ds vuqlkj ,d cSafdax dEiuh dk vkfFkZd 

fpV~Bk vkSj ykHk&gkfu [kkrk 
-----------------------

 }kjk 

rS;kj fd;k tkrk gSA  

 
63. According to Section 30 of Banking 

Companies Act, 1949, Balance Sheet and 

Profit and Loss Account of a banking 

company is prepared by .................. . 

(A) vads{kd  (A) Auditor 

(B) dsUnz ljdkj  (B)  Central Government  

(C) cSad izcU/ku  (C)  Bank Management 

(D) cSafdax yksdiky  (D)  Banking Lokpal 

64. ,d cSafdax dEiuh ds }kjk vius [kkrksa ,oa 

vads{kd fjiksVZ dh 
----------------------

 izfr;k¡ Hkkjrh; 

fjtoZ cSad ds ikl Hkstuh gksrh gSaA  

 
64. ................ copies of accounts and 

auditor‟s reports is submitted to Reserve 

Bank of India by a banking company. 

(A) ,d  (A) One 

(B) nks  (B)  Two  

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 

65. ,d cSad dh vads{k.k fjiksVZ 
----------------------

 ekg ds 

vUnj v[kckj esa izdkf’kr dh tkuh pkfg;sA 

 
65. Within ............... months audit report of a 

bank must be published in newspaper. 

(A) 3  (A) 3 

(B)  4  (B)  4 

(C)  5  (C)  5 

(D)  6  (D)  6 
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66. Hkkjr esa 
----------------------

 izdkj dh chek dEifu;k¡ gSaA 
 

66. There are ................. types of Insurance 

Companies in India. 

(A) 3  (A) 3 

(B)  4  (B)  4 

(C)  2  (C)  2 

(D)  6  (D)  6 

67. lkekU; chek dEifu;k¡ 
------------------------

 ds vUrxZr 

vkrh gSaA 

 
67. General Insurance Companies are 

covered under ................. . 

(A) chek dEiuht vf/kfu;e] 1938  (A) Insurance Companies Act, 1938 

(B) thou chek fuxe vf/kfu;e] 1956  (B)  Life Insurance Corporation Act, 

1956 

(C) O;olk; jk”Vªh;dj.k vf/kfu;e] 1972  (C)  Business Nationalisation Act, 1972 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

68. chek dEifu;ksa ds [kkrs 
--------------------------

 ds vUrxZr 

j[ks tkrs gSaA  

 
68. Accounts of insurance companies are 

kept under ................... . 

(A) chek vf/kfu;e] 1936  (A) Insurance Act, 1936 

(B) chek dEiuht vf/kfu;e] 1938  (B)  Insurance Companies Act, 1938 

(C) chek vf/kfu;e] 1935  (C)  Insurance Act, 1935 

(D) chek vf/kfu;e] 1945  (D)  Insurance Act, 1945 
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69. vfHkdŸkkZvksa dks ns; ikfjJfed dh tk¡p  

---------------------
 ds }kjk dh tk ldrh gSA  

 
69. Remuneration to agents can be examined 

through ................. . 

(A) jlhnksa dh izfrfyfi   (A) Copy of receipts  

(B) Bgjko  (B)  Agreement  

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

70. vfXu chek vfHkdrkZvksa dks ns; ikfjJfed dh 

vf/kdre jkf’k izhfe;e dk 
-----------------------

 gSA 

 
70. The maximum amount of remuneration to 

be paid to fire insurance agent is .............. 

of premium. 

(A) 15%  (A) 15% 

(B)  20%  (B)  20% 

(C)  25%  (C)  25% 

(D)  30%  (D)  30% 

71. ,d leqnzh chek dEiuh dks vius ‘kq) izkIr 

izhfe;e dk de ls de --------------------- vlekIr 

tksf[keksa ds fy;s lap; djuk vko’;d gSA  

 
71. Minimum .............. of net premium 

received must be reserved for unexpired 

risk by a marine insurance company. 

(A) 40%  (A) 40% 

(B)  50%  (B)  50% 

(C)  60%  (C)  60% 

(D)  100%  (D)  100% 
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72. foŸkh; o”kZ dh lekfIr ds N% ekg ds vUnj 

vadsf{kr [kkrksa dh pkj izfr;k¡ 
---------------------

 ds ikl 

Hkst nh tkuh pkfg;sA 

 
72. Four copies of audited accounts must be 

submitted to ................. within six 

months of end of financial year. 

(A) chek fu;U=d  (A) Insurance Controller  

(B) dsUnz ljdkj  (B)  Central Government  

(C) dEiuh fucU/kd  (C)  Registrar of Companies  

(D) mi;qZDr lHkh  (D)  All of the above  

73. ,d f’k{k.k laLFkku ds izcU/ku gsrq 
--------------------

 dh 

tk¡p dh tkuh pkfg;sA  

 
73. For management of an educational 

institution .................. should be 

inspected. 

(A) izU;kl ds izi=  (A) Papers of trust  

(B) laLFkk ds vf/kfu;e  (B)  Act of the Institution  

(C) laLFkk ds fu;e  (C)  Rules of Institution 

(D) mi;qZDr lHkh  (D)  All of the above  

74. ,d f’k{k.k laLFkku dh vk; dk eq[; lzksr gS % 
 

74. Main source of income of an educational 

institution is : 

(A) Nk=ksa ls izkIr Qhl   (A) Fees from students  

(B) nku ,oa pans  (B)  Donations and Subscription  

(C) ljdkjh lgk;rk   (C)  Government aid  

(D) mi;qZDr lHkh  (D)  All of the above  

75. ,d f’k{k.k laLFkku ds O;;ksa dh tk¡p gsrq 
- 

------------------------
 ,d izek.kd gSA  

 
75. To inspect the expenses of an educational 

institute, ............... is a voucher.  

(A) dS’k eheks  (A) Cash memo 

(B) jlhnsa   (B)  Receipts  

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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76. izos’k ds le; Nk=ksa ls tek djk;h tkus okyh 

tekur jkf’k dks vkfFkZd fpV~Bs esa 
--------------------

 ds 

:i esa n’kkZ;k tkrk gSA  

 
76. Security money deposited by students at 

the time of admission is shown as 

................. in Balance Sheet.  

(A) lEifŸk  (A) Assets  

(B) nkf;Ro  (B)  Liabilities  

(C) laHkkO; nkf;Ro  (C)  Contingent Liability 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

77. xSj&ykHkdkjh laLFkkvksa dh vk; dk eq[; lzksr  

--------------------
 gSA 

 
77. Main source of income of non-profit 

organisations is ................. . 

(A) lnL;rk ‘kqYd  (A) Membership fees 

(B) pUns  (B)  Subscription  

(C) ljdkjh lgk;rk   (C)  Government aids  

(D) mi;qZDr lHkh  (D)  All of the above  

78. lgdkjh vads{k.k 
-----------------------

 gksrk gSA 
 

78. Co-operative audit is .................. . 

(A) foŸkh; vads{k.k  (A) Financial audit 

(B) iz’kklfud vads{k.k  (B)  Administrative audit 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) ykxr vads{k.k  (D)  Cost audit 
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79. lgdkjh vads{kd ds fy;s 
------------------

 ,d vko’;d 

;ksX;rk gSA 

 
79. ................. is the essential qualification 

for co-operative auditor. 

(A) pkVZMZ ,dkmUVsaV  (A) Chartered Accountant 

(B) dEiuh lfpo  (B)  Company Secretary 

(C) ykxr ,oa izcU/k ,dkmUVsaV  (C)  Cost and Management Accountant 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

80. lgdkjh o”kZ dh vof/k 
--------------------------

 gSA 
 

80. Period of co-operative year is ................. . 

(A) tqykbZ ls twu  (A) July to June  

(B) vizSy ls ekpZ  (B)  April to March  

(C) tuojh ls fnlEcj  (C)  January to December 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

81. fuEufyf[kr esa ls dkSu&lk lsok {ks= esa ugha  

vkrk gS \ 

 
81. Which of the following is not covered 

under service sector ? 

(A) cSafdax  (A) Banking  

(B) ifjogu  (B)  Transport  

(C) m|ksx  (C)  Industry  

(D) chek  (D)  Insurance  
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82. fdlh laLFkk dh ys[kk iqLrdksa dh] fdlh fo’ks”k 

mís’; ds fy;s tk¡p djus dks 
----------------------

 dgk 

tkrk gSA  

 
82. To examine books of accounts of any 

institution for specific motive is known as 

.................. . 

(A) ys[kkadu   (A) Accounting  

(B) vads{k.k   (B)  Auditing  

(C) vuqla/kku  (C)  Investigation  

(D) iqLrikyu  (D)  Book-keeping  

83. fuEufyf[kr eas ls dkSu&lk vuqla/kku dk ,d 

mís’; gS \ 

 
83. Which of the following is an objective of 

investigation ? 

(A) va’kksa dk ewY;kadu   (A) Valuation of shares  

(B) diV dk irk yxkuk   (B)  To find out frauds  

(C) izkfooj.k fjiksVZ nsuk   (C)  To give prospectus report 

(D) mi;qZDr lHkh  (D)  All of the above  

84. vads{k.k dh rqyuk esa vuqla/kku dk {ks=  

--------------------
 gksrk gSA  

 
84. Scope of investigation is ............. than 

auditing. 

(A) cjkcj  (A) Equal  

(B) lhfer  (B)  Limited  

(C) foLr`r  (C)  Wide 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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85. vuqla/kku 
----------------------

 gksrk gSA  
 

85. Investigation is ................. . 

(A) vfuok;Z  (A) Compulsory 

(B) oS/kkfud   (B)  Statutory  

(C) ,sfPNd  (C)  Voluntary  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

86. ,d u;h dEiuh }kjk iqjkuh dEiuh dks 

[kjhnrs le; 
--------------------

 ds fy;s vuqla/kku fd;k 

tkrk gSA  

 
86. Investigation is done by a new company 

while purchasing an existing company for 

................... . 

(A) lEifŸk;ksa ds ewY;kadu   (A) Valuation of assets  

(B) miktZu ‘kfDr dh tk¡p  (B)  Inspecting earning power  

(C) ykHk dh lR;rk dh tk¡p  (C)  Inspecting truthfulness of profit   

(D) mi;qZDr lHkh  (D)  All of the above  

87. xEHkhj diV vuqla/kku dk;kZy; viuh fjiksVZ  

---------------------
 dks lkSairk gSA  

 
87. Serious fraud investigation office submits 

its report to .................. . 

(A) dsUnz ljdkj   (A) Central Government 

(B) fujh{kd  (B)  Inspector 

(C) izcU/kd  (C)  Manager 

(D) va’k/kkjh  (D)  Shareholders 

88. ,d fujh{kd ds fy;s vius vf/kdkjksa ds iz;ksx 

gsrq 
---------------------

 dh iwoZ lgefr vko’;d gSA 

 
88. Prior consent of ................ is must for 

inspector to exercise his rights.  

(A) dEiuh  (A) Company 

(B) dsUnz ljdkj   (B)  Central Government  

(C) turk   (C)  Public  

(D) lapkyd e.My  (D)  Board of Directors  
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89. ,d fujh{kd] fdlh dEiuh ds lHkh izi= ,oa 

iqLrdsa vius ikl 
--------------------

 fnu rd j[k ldrk 

gSA  

 
89. An inspector can keep all documents and 

books of a company with himself for 

................ days.  

(A) 60  (A) 60 

(B)  90  (B)  90 

(C)  180  (C)  180 

(D)  220  (D)  220 

90. vuqla/kku iw.kZ gksus ij] fujh{kd ,d 
------------------

 

fjiksVZ izLrqr djrk gSA  

 
90. On completion of investigation inspector 

presents ............... report. 

(A) LoPN  (A) Clean  

(B) e;kZfnr  (B)  Qualified  

(C) vUrfje  (C)  Interim  

(D) vfUre  (D)  Final 

91. lkekU;r% vuqla/kku dh vof/k 
------------------

 o”kZ gksrh 

gSA  

 
91. Normally, period of investigation is 

................. years. 

(A) 1-3  (A) 1-3 

(B)  3-5  (B)  3-5 

(C)  3-7  (C)  3-7 

(D)  1-5  (D)  1-5 

92. vuqla/kku 
-------------------------

 ds }kjk djk;k tkrk gSA 
 

92. Investigation is carried out by : 

(A) cká i{kksa   (A) External parties  

(B) ekfydksa   (B)  Owners 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) ysunkjksa  (D)  Creditors 
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93. Hkkjrh; lunh ys[kkdkj laLFkku dk eq[;ky; -

------------------- esa fLFkr gSA 

 
93. Head office of the Institute of Chartered 

Accountants of India is situated at 

.................. . 

(A) eqEcbZ  (A) Mumbai 

(B) dksydkrk  (B)  Kolkata  

(C) ubZ fnYyh  (C)  New Delhi 

(D) dkuiqj  (D)  Kanpur 

94. Hkkjrh; ykxr ys[kkdkj laLFkku dk eq[;ky; 

-------------------- esa fLFkr gSA 

 
94. Head office of the Institute of Cost 

Accountants of India is situated at 

.................. . 

(A) eqEcbZ  (A) Mumbai 

(B) dksydkrk  (B)  Kolkata  

(C) ubZ fnYyh  (C)  New Delhi 

(D) dkuiqj  (D)  Kanpur 

95. vads{k.k dk vFkZ gS % 
 

95. Auditing means .................. . 

(A) tuZy cgh esa fjdkMZ djuk   (A) Recording in journal book  

(B) vfUre [kkrs rS;kj djuk   (B)  Preparing final accounts  

(C) ys[kk iqLrdksa dh tk¡p djuk  (C)  Examining books of accounts  

(D) mi;qZDr lHkh  (D)  All of the above 

96. e’khujh dk foØ; 
--------------------------

 gSA 
 

96. Sale of machinery is a .................. . 

(A) vk;xr izkfIr  (A) Revenue Receipt  

(B) iw¡thxr izkfIr  (B)  Capital Receipt 

(C) iw¡thxr O;;  (C)  Capital Expenditure 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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97. xqIr lap; dk fuekZ.k 
---------------------

 }kjk fd;k tk 

ldrk gSA  

 
97. Secret reserve can be created by 

................. . 

(A) cSafdax dEiuh  (A) Banking Company 

(B) chek dEiuh  (B)  Insurance Company 

(C) ljdkjh dEiuh  (C)  Government Company 

(D) mi;qZDr lHkh  (D)  All of the above  

98. ,d deZpkjh dk dk;Z nwljs deZpkjh }kjk Lor% 

tk¡pk tkrk gS] 
-----------------------

 dgykrk gSA  

 
98. The work of one employee is 

automatically checked by another 

employee, is called ................. . 

(A) vkUrfjd fu;U=.k  (A) Internal Control 

(B) vkUrfjd tk¡p  (B)  Internal Check  

(C) vkUrfjd vads{k.k   (C)  Internal Audit 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

99. ,d vads{kd ds nkf;Ro gks ldrs gSa % 
 

99. The liabilities of an auditor can be : 

(A) nhokuh  (A) Civil 

(B) vijkf/kd  (B)  Criminal 

(C) nksuksa (A) rFkk (B)  (C)  Both (A) and (B) 

(D) dk;kZy;h  (D)  Official 

100. ,d dEiuh dk izFke vads{kd 
--------------------

 ds }kjk 

fu;qDr fd;k tkrk gSA  

 
100. First auditor of a company is appointed 

by ................ . 

(A) lapkyd e.My  (A) Board of Directors  

(B) va’k/kkjdksa   (B)  Shareholders  

(C) izcU/k funs’kd  (C)  Managing Director 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


